Cart

Product Guide

Important, Retain for Future Reference: Read Carefully

WARNING: This product guide contains important information
necessary for the proper assembly and safe use of the appliance.

Read and follow all warnings and instructions before assembling
and using the appliance.

This appliance is for outdoor use only.

Table of Contents Page

What's in the package 1
Preparing the Firebox
Assembly of the Cart
LP Gas Cylinder Placement

Customer Service

0 N o w DN

Warranty



What'’s in the package
Before assembling the cart, ensure that all parts below are included.

M x1 N x1 O x1 P x1 Q x2
Side Frame Side Frame Upper Fascia Lower Fascia Wheel
Left Right
R x2
Wheel
Bolt
/ /@ Hex Nut
° e @)
U x2 V x8 W x18 X x1
Folding Table Shoulder Bolt Mé Screw Tank Block

S I
A@

Tool required for assembly, not included:
#2 Philips Head Screwdriver Have a question? Please Do Not Return This Product To The Store.
@ . Contact us first! 1-855-657-6836 or email support@bakerstonebox.com




Preparing the Firebox

Fasteners to
be removed

STEP 1. Before fitting the Firebox to the Cart, the folding
legs on the Portable Gas Pizza Oven Box or Portable Gas
Grill must be removed first. Turn the firebox over on a
clean, soft surface to protect it from scratching.

STEP 2. To remove the folding legs, locate and remove
the 4 fasteners per folding leg attaching the folding legs
to the firebox. There are 8 total fasteners that will need to
be removed.

STEP 3. After removing the folding legs turn the firebox
over and set aside.



Assembly of the Cart

STEP 1. Identify the LEFT SIDE FRAME (M) and BASE (T).
Attach the BASE to the LEFT SIDE FRAME using 2 Mé
SCREWS (W).

FASCIA to the LEFT SIDE FRAME using 2 M6 SCREWS (W).

/f\w STEP 2. Identify the LOWER FASCIA (P). Attach the LOWER

T STEP 3. Identify the UPPER FASCIA (O). Attach the UPPER
/ [T FASCIA to the LEFT SIDE FRAME using 2 M6 SCREWS (W).




STEP 4. Identify the RIGHT SIDE FRAME (N). Attach the
RIGHT SIDE FRAME to the BASE, UPPER FASCIA AND
LOWER FASCIA using 6 Mé SCREWS (W).

0O ®

STEP 5. Identify the 2 WHEELS (Q), WHEEL BOLTS (R) and
HEX NUTS (S). Attach the WHEELS to the RIGHT SIDE
FRAME using the WHEEL BOLTS and HEX NUTS as shown
below.

STEP 6. Identify the TANK BLOCK (X) and insert the open
end through the hole between the UPPER FASCIA (O)
and LOWER FASCIA (P). Then attached to the RIGHT SIDE
FRAME and LEFT SIDE FRAME using M6 SCREWS (W).




STEP 7. Identify the FIREBOX (L). Attach the FIREBOX to the
LEFT SIDE FRAME and RIGHT SIDE FRAME using 4 Mé
SCREWS (W).

=4 STEP 8. Identify the 2 SIDE TABLES (U). Attach the SIDE
09 . TABLES to the LEFT SIDE FRAME and RIGHT SIDE FRAME

peet L
1 oee 0

using SHOULDER SCREWS (V). Each SIDE TABLE requires 4
SHOULDER SCREWS.

NOTE: Prior to first use wipe all surfaces with a damp
cloth.




LP Gas Cylinder Placement

Place the LP Gas Cylinder into the Base and secure with
the LP Gas Cylinder retention bolt. Turn the LP Gas
Cylinder retention bolt clockwise to tighten.

LP Gas Cylinder

Base
\—LP Gas Cylinder retention bolt

WARNING:
Only use this appliance outdoors in a well ventilated area.

Never operate this appliance within 10 ft (3.0 m) of any structure,
combustible material or other gas cylinder.

Do not use this appliance under overhead combustable construction.
Do not place or use this appliance on a combustable surface.

This appliance becomes hot, do not place on any surface which cannot
withstand high temperatures without deforming or being damaged.

Failure to follow these instructions could result in fire, explosion or burn
hazard which could cause property damage, personal injury or death.



Customer Service

For general inquiries, please email us at support@bakerstonebox.com
or call (855) 657-6836.

For North American customer service needs, such as replacement parts and warranty
claims, please email us at support@bakerstonebox.com or call (855) 657-6836.

For customer service needs in Australia please contact:
Freephone: 1800 839 842 / www.bakerstonebox.com.au
customercare@bakerstonebox.com.au

For customer service needs in New Zealand please contact the New Zealand
distributor: Riverlea Group Ltd. / Freephone: 0800 438 274

email: customercare@riverleagroup.co.nz

website: www.riverleagroup.co.nz

For customer service needs in Europe please contact the European districbutor:
OutTrade B.V.

+31 529 48 28 08

email: info@outtrade.eu

website: www.outtrade.eu



Warranty
Please read carefully:

This appliance is covered by/under a limited warranty for manufacturing defects for a
period of 12 months from the date of purchase. This warranty applies only to the original
purchaser using this product in a residential and non-commercial setting. This warranty
applies only to items sold in original packaging, at the authorized retail location, and
does not relate to items sold that have been opened, used as floor samples or
demonstration, or models sold “as is”.

When you open the package:

Consult the Product Guide to ensure that there are no missing or damaged parts. Within
14 calendar days from the date of purchase, any missing parts or damages must be
reported to BakerStone.

Claims for defects or missing items must be accompanied by the original or an
acceptable copy of the sales receipt and photographs must be taken to support any
and all claims submitted.

Here is what the warranty does not include:

* Merchandise that has sustained weather damage.

* Any damage to the appliance resulting from being used in a manner other than its
intended purpose.

* Damages resulting from use in a commercial or institutional organization.

* Failures, defects, damages caused by, failure to follow the instructions, abuse, neglect,
inclement weather and/or acts of nature.

 Discoloration or yellowing of any stainless steel components.

 Domage caused by bleach, ammonia, and/or other abrasive cleaners.

* Rusting as a result of scratches or broken enameled surfaces.

* Failure, discoloration or any and all damages that result from the appliance being used
with disregard to any and all warnings listed in the Product Guide

» Damages caused to the appliance by dirty, grease laden firebox or burners that are
clogged, corroded or otherwise damaged and therefore are likely to misfire or
otherwise malfunction.

 Damages caused by neglect or lack of reasonable care and maintenance.

 Damages resulting from the use of the appliance when it has not been properly
maintained. A properly maintained appliance includes, but is not limited to, clean
grease trap and firebox, and properly functioning burners, valves and regulator.

* Consequential damages.

* Any damages to an item resulting from placing it on a hot appliance.

* Damage to any item resulting from attempting to use the appliance indoors.



Disclaimer

Use of this appliance is at the discretion of the user. BakerStone is not responsible for
personal injury or property damage resulting from the misuse of this appliance.

FAILURE TO NOT FOLLOW THE PRECAUTIONS AND INSTRUCTIONS IN THE PRODUCT GUIDE
MAY RESULT IN THE VOIDING OF THE WARRANTY OF THIS APPLIANCE.

Customer service claims - Please call: 1-855-657-6836
Email: support@bakerstonebox.com
Visit: www.bakerstonebox.com

For all product inquires in Australia please contact:

Freephone: 1800 839 842
customercare@bakerstonebox.com.au
visit www.bakerstonebox.com.au

For all product inquires in New Zealand
please contact the New Zealand Distributor:

Riverlea Group Ltd.
Freephone: 0800 438 274
customercare@riverleagroup.co.nz
www.riverleagroup.co.nz

For all product inquires in Europe please contact:

OufTrade B.V.
+31 529 48 28 08
info@outtrade.eu
www.outtrade.eu

VOl









	页 1
	页 2
	页 3
	页 4
	页 5
	页 6



